Cisco ATM 2t<E| IE{H 0|0 &d 714 3|
29| x|l == o|5H
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MEEE=FTEH24

_IE_I_7| _I__IL7'=I

ATM 5HIO|E 4 3

ATM stEQ|o{E X|BE|= gt

ESRE OC-3 2 OC-12 ATM EI2! FIE

show HHEEZ AtE5104 =|CH & VCE ZE A[BILICE.
atm vc-per-vp H&

PA-A3-OC12

PA-A1

PA-A2-4E1XC-E3ATM Z! PA-A2-4T1C-T3ATM
MC3810 Multiflex Trunk Module

NM-1ATM-25

NM-4T1/8T1-IMA

AIM-ATM

4x0OC3 GSR ATM E2I2! 71 E

PA-A3-8T1IMA 3! PA-A3-8E1IMA

ATM DXI 1124 At&t

Z|CH 2 vCo CHet 52 Te] ALE

B me

Cisco ATM QE{H|O|AE X+ AFB5HE W2 DSL AFSAF EEE ¥ 7| AL Rtof| A B2 £9]
ATM PVC(Permanent V|rtual Circuit)& &AHet= JALICE 0| Mol AH= VC(Active Virtual
Circuit)2| ZICH 70, VPI(Virtual Path Identifier) 2t 2| <, Clsco ATM 2t E7t X[#5t=
VCI(Virtual Channel Identifier) 2t 2| 2?[0f| CHaH B LICt UF SAR(segmentation and
reassembly) £ 2| O} 7|ElX{= 0|24t X|HEl= 2ol MEHE SLict

4

N T AN

T AE

ol 2ol CHet &7 @0 gi&LCh.



Ol EMe &4 Az EQ|o] X st=H o] HEI2 2 SHEE[X| ef&LICH

ATM 42 5HI0|E sIHHE Z & efLICH 0] 2 EloiA & = 4= 0] UNI(user-network interface) & 5|
C{oll= VPI ZHE9| A< 8HIE, VCI ZE2| B2 16H|E7I Z & ELICH

GFC W | 1 CLP HEG
..... 4 e 1w o F vy 8 |
| 32 bils bits CRC | &
olz{8t FEo| 37| UNI 0| AHEXL & A& 2 5t 2H2E QIEIH 0|AT} XIRIE 4 Qe VPI
2l VCl gf Hloll &S &huct

A atm vc-
=t [0 EE\H,CJ VPI 2t2| |VvCl 2te| |per-vp
- bl 1T T P
i g
vec-per- o st
vpoil 2} 1-”_';
AP 2,048 |0-255 Arer lypp =
Ct&, =|CH —~ x4
10237 | =
20479 | - o
PA-A1 2048 |0-255 |XIvo-per- \",_lPTf
_ ) vpol ek | o<, "
I
PA-A2 2048 [0-255 |0-2047 |-

Cisco 7100,
7200, 7400 !
7500 2FE{9|
PA-A3-OC3/T3

OSR/7600,
FlexWANZ2] 1024 |0 -255 0-65535 |-
PA-A3-OC3/T3

Cisco 7200,
7400 2! 7500
2R E{2| PA-
A6-OC3/T3

FlexWANZ2]
PA-A3-OC3/T3

4096 ||0-255 0-65535 |-

8192 |0 -255 0-65535

4096 |0-255 0-65535
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T3

5127H,
T 2
N2
PAASIMA |75 [0-255 065535 |-
Z a8
Ct
o
409671
ve-per- TR8t
0 A
PA-A3-OC12 4096 [0-255 ‘é'f;' [E'EIEEPH VRl
=, 4 = 1O
102374 | &Lct.
NP-1A-
oc(4500/4700)| 10?4 |0-7 1-1023 -
NP-1A-
E3/DS3(4500/4 1024 [0-7 1-1023 |-
700)
NM-1A-OC 1024 [0-15 1-1023 |-
NM-1A-DS3  [1024 [0-15 1-1023 |-
VPI2}
sxd g9 |VOPS  lvel At
NM-4T1-IMA - 59 108, |EHE: E s
NM-8T1-IMA 143 ol 1216)T | e =
192207 |ZEH hmge )
40957H E’f‘
VPI2}
ve-pervp | o VCI A}
7} - -
ol w10 Ty | 012l
NM-1ATM-25 4096 |Ct=:1- = 2o |ETE
- e G L= S
63,0-3, lg191 e
0-1 gL
Ct.
T1EE
E4% QlE{ |
E IMA Jve-per- | oer o|lag
HEC}H - -
HES | vpod 2l vooll 2t 13HIE
25574 |ctgoich |YP =2[0l
AIM-ATM AIM- |y o) | S|zt e CHSLICH of
T1Ql Jo~31 Q| =5 vl
30 by =T 1~256 o
E{TOf | OI BVPI | o o gy | HIE
A 471 |HIEQL] ‘,;;;,qu 2&tM
7F e | — =7 g =y
102474 gic
o|VvC
NRP(6400) 2046 [0-255 |1-16383 |-
OSM-20C12- | =E¥ |vc-per- vc-per- VPI2}
= =
OSM-20C12- 7H9|= chEuct |Chguct OI%EI
VC, & |.ZlCHo- |.2lci1- |EEE

ATM-SI**




2% S|
ATM (255712 |27 mig =
QUIEAH | Zt2 152 | S saon | | EEH
O|AE | LC}. ;?23'='L’| C}.
50074 '
7300-
20C3ATM-MM
7300- QIE{m|
20C3ATM-SMI | O|AE |0-255  |1-65535 |-
7300- 2,048
20C3ATM-
SML
VPI2}
VCI A
vec-per-vp |(vc-per- 0l2] H
dE|EAAE | jgtolmet jvpoll ek | ZT 5
=3 (MC3810) CHE, 2ICH | CHE, 2100 | o =
2557 8191 ;:J
oH
Ct.
474 Z
EolM
oc3ESR* |9 U lo~255 | 1-65535 |-
VPINC
| 8
OC-12 ESR* [512 [0~255 1-65535 |-
VPI2}
A
EZES |vc-per-vp |vc-per- \é|Cc|>| I:Pll
2048, | ztoll et |vpoll et | 27 4
CSR®BOCS sieg |, 2ick |cte, 2ok o S 2
8192 25574 8191 ;:J
oH
Ct.
VPI2}
A
EZES |vec-per-vp |vc-per- \é|Cc|>| I:Pll
2048, | ztoll et |vpoll et | 27 4
GSRIXOCI2 Nsiegr Iois, 2ich|othg, 2o | o & =
8192 |2557H 8191 ;:J
oH
Ct.
Cisco 1024 [0 - 31 1-1023 |-
827(ADSL)
Catalyst
2900M-XL WS-
X2951 WS-
%2961 WS- 1024 |0 1-1023 |-
X2971 WS-
X2971
* BFRE{0| A X| &3t nrt-VBR PVC £ Cisco IOS® AZE

22 ESR MMof CHet O

C-3 2/ 0C-12 ATM Line CardE & X35tAA|2.

o &2l

of 7| LIch REMIEE LY



** Cisco 7600 Series 2IE{4l B} 2E{ HIO|E{A|E0|M &8 VCI & VPI 2 E B4 2-Port ATM
Optical Services Module2 X5t &AL

ESRE OC-3 8l OC-12 ATM 2iP! 7l =

ESR(Edge Services Router) EE £ Cisco 1000 Series= 4xOC-3 2! 1xOC-12 ATM 22! FIEE X|
etLIch e ve el =|CH & Cisco 10S AZ E Qo] 2lZ|A0f 2t CHELICH

. Cisco 10S &ICH 2| 0[|0|X| 12.0(x)STE AIAEIE X|CH 8,0007H2| UBR VC ! 4,000742]
VBRVCE X|HELICHEY QIE{m| o|A= Z|CH 4,0007H2] VBR VCE X|HE = U&LICHO|
X|&E2 0C-3 X 0C-12 22l 7t=of| 25 MEE LY.

. Cisco 10S ¥CHe] o|O|X| 12.2(x)BE= A|AERIE Z|CH 3,2000702] PVCE X|§EfLICHOC-12 7t
E &= QE{Ho|AT 1,60002 X|BHE &= U2, OC-3 7tE= QE{H O|AT %|CH 8,0002 X|&

g & A&LICH

ESR ATM 2t2l Zt== VPINVCIL| | P& K[ SH(UNIOEF siiE) VCII € &= &40 Cf

g MEtg So VC & EY + U&LICEIIET B SARE 4x0C-3 & 1xOC-120{ A 25 ALE
ELICH SAROAM RIEH|0|AT S VPIVCI 22 X|¥st T VCE F'Est =5 5t{T SAROA
QIR PVC Z/E XZE #H35 0| HIEE MEsl= LR 222 HergL|ct51271e| 1 REt g2 O3
HIE HiEHS AFSELICH

. 0| =l H|E 374
- PvCeol 22/ QIE{H|0|AE X|H3st= 5712 PHY HIE
. 8712| VPI HIE(TIA| VPI gt S LIEFALICH)
. VCI Zto| 42| 9H|E(VCI ZEE 2| HIE 7-15).
O| AlLt2|R0M = CHE o E 2o FLCt

VCI 2E29| X& 7H|IE(Z2E VCI= 127 O|5h) Bt At&3St= B HIE HEHo| MHZ 3R 20 AFSE L
ChetM AFSEl IRE 289l == Ct21 Z &L

(# of interfaces being used on the SAR) * (# of different VPIs provisioned) <= 512
O| Zt2 5122 CH & 7Lt Zotof ELICE O] AlLtE2|27t 47H2] QIE{H|O| ALt &TH M El= B2
128712| VPIE Z2H|X'JE = U&LICHRIEH O|A 47H * 128VPI).

VCI 240l 1278 Zh5tH ATM S2+OIEH7} 7H5 B VPI 2L0lIAT SH0{LE7| AISHEFLICE. O H) 8t

QIE{T|O|A 7} UMsHH RRITICHD JHHELICHO| ALLZIQ0IM AL ElE TR8 K3 +8 2
QISHE 7Ha 412 WS 49/ 9742l VCI HIEOIM AL ElE HIE +8 Hdsts ZLich a2 of
S ST oHlEQt TS Bt Aicf Chfet ZE2 BHELICLOIXIZO 2, ASE VP S0t A TH5
QlEfT0|A +8 ZELIC

—_

O|F AlLtE| 201l [} pvc 2/32-10230| QIE{H 0| atm 4/001 CHaH FAI=lof @k 7HEEHLCH
= Chg PVCE 25 TAIBLICH2/32, 2/33, 2/33.2/1023. VPI = 201 L E 49| 9927 VCol| CH3t &
7. o] HelE VeI HEO| HIE 8,9 X 108 AFSELICHVPI = 38 AL 3HE pve 3/32-102301 M=
OFEH7FRIQILICH ZHERS] 23 CHRTH 22 2 430] JHS BLICH

atm 4/0
pvc 2/32-1023
pvc 3/32-1023
pvc 4/32-1023
atm4/1
pvc 2/32-1023
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pvc 3/32-1023
pvc 4/32-1023
atm 5/0
pvc 2/32-1023
pvc 3/32-1023
pvc 4/32-1023
atm5/1
pvc 2/32-1023
pvc 3/32-1023
pvc 4/32-1023

g HolgLch

. QE{HO[A = =14
.VPI£=3
. A2 El 42| 9VCl H|

E £ =3-2/3 E& 82 HEELCH
et AFSE 1] X8 =

4*3*8 = 961+ Z&LCt.

VCI2| 42| 9HIE, VP2l 8HIE L ZE #Sof CHaH Z|CH 512712 TRt
LICH0IE S0{ 4712 HZ C}E OC ZEOM VPI 1-648 FA5tE B 512
CHEEE VPI=0 212 FAE AR 47 ZE B 0oM VCI=128-2562 25 5127H2| 2t At
Ch.Ciscotl M= VCI SZhe| 6t 9| 7THIEE DT A8 S HEELICH

s
u P
o
o
o ]
%
ok
als
i z0
o>

t£st ESR ATM 2Rl ZHE &= atm ve-per-vp BHE X|SHX| k& LICH

#1: #Hel ESR ATM 2121 7tE= SHE/0{0lM FHES 2,0007H2| UBR PVC % 8191 nrt-VBR

PVCZ MStE|R&LICHES Cisco I0S AZE Q04 Z2|A0 [EF OC-12 EIR! =& Z|CH 2547
O] VBR-NRT PVCE X|H&LICt.ole{Et MEt2 O o|& MEE|X| &f&LICt ol2{8r A&t AHE5t
= 2 ME Cisco.com0l| A& LIEFL = &L

EE 3t OAM(Operation, Administration, and Maintenance) A1t ILMI(Interim Local Management
Interface)2t Z 0| A5 22 M E[= Ao 7|s0f| At El= VC= VPI g 0ofl € FELICt ol= Al
EXPVCH MEE = e &5 ol &2 & = JU&LICh

show BHE A8et04 Z|CH &4 VCE EA|BILIC

Supported Values Per ATM Hardware E|O|&& At=35t= X 2|0 = show atm interface atm BE&

IF = show interface atm BE 2 At&3t0{ ATM QIE{H|0|A Q| |CH 74 7+SE VC =2 $4AH &M
VC =& & IFfLICt 0] £342 Cisco 3640 EFRE{2| NM-4T1-IMA LIER{T ZE0AM IR E

L|Ct.

3640#show atm interface atm 2/0
Interface ATM2/O:
AAL enabl ed: AAL5 , Maxi mum VCs: 256, Current VCCs: O
!--- Note value for "Maximum VCs" and "Current VCCs". Maxi mum Transmt Channels: 0 Max.
Dat agram Si ze: 4496 PLIM Type: DS1, Framing is T1 ESF, TX clocking: LINE Cell-payl oad
scranbling: OFF O input, O output, O IN fast, 0 OQUT fast, O out drop Avail bw = 1000 Config. is
ACTI VE 3640#show interface atm 2/0
ATM2/0 is up, line protocol is up
Hardware is ATM T1
MIU 4470 bytes, sub MIU 4470, BW 1500 Kbit, DLY 20000 usec
reliability 0/255, txload 1/255, rxload 1/255
Encapsul ati on ATM | oopback not set
Keepal i ve not supported
Encapsul ation(s): AALS



256 maxi mum active VCs, O current VCCs
!-—-- Note the "maximum active VCs" and "current VCCs" values. VC idle disconnect tine:
300 seconds [output omitted]

atm vc-per-vp B2

Cisco ATM 2} E{ CIE{Ho|AE 7|2 Q|| vPI & VCI Zt 2 X[ & LICt.atm ve-per-vp BHS
Ar&3sto{ LR QUEH O|A StER 00l Z[22L0| Or'zl e THE = JUaguctol HE2 74
7t 8t ve Zhol CHall 25 ATM SAR E/0| 7tst= At 2 235t= ol E20| St

UEMO 2 atm ve-per-vp BH2 CHE F 7HX| Y & stLZ Xkl HYIE ZHELICH

- VPIE 2 1) VPIHE = 2 VCI
- VPI H2{2} VCI ¢| AtO|e| HIE
x| et &Lt
Ol MMM §H ATM QIE{H 0| A 5tE 047} atm ve-per-vp BEE O{EH AL St=X| MHE
L|Ct,

PA-A3-OC12

PA-A3-OC12 ZE O{HHE{= CtS1} 20| atm ve-per-vp BHE S AL ELICEH

- =22/ HZ2 2|0l &Fst= VC HIO|E2 4096 &= (E= &l)S K[ LICE.

. VPl 272 0~255(8HIE)o| 2 E HA% X|gtLict o] 372 "sparse"2t 1 ELIC} 8HIE Zt2
UNI A A0] = ATM A SHO| VPI 2E 37|19t YxIFLICHEDT: Y2 ATM StESo{= T
A SHIEE X|§5HX| &t&LICHOE £01, NM-1A-OC3 2 NM-1A-DS3= 0~152| VPI HIE 47|
ot VPI gt 2 R Lct,

. B QIE{m|0| A0 M R|4SHE 78 VPI 2te| =& CHE +=4Alol 2|5 AMSHELICH
Maxi mum Active VCs / atmvc-per-vp = Nunmber of Uni que VPI s
PA-A3-OC1201| A atm vc-per-vp Zf 2562 8712| 138t VPI 2t K|S =S BH<E
L|Ct.

4096 / atmvc-per-vp 256 = 8
001l A1 255 AtO|Q| 21o[o| VPI gt 87HE AR EH MEHE = Ql&LICt 9, 25,50 & 2401 22
HiZ=RH A A ALD EE1,2,3 249 42 —’.fo‘* IP AEI[=E MEfgFLCY.

. HBHEH V(| -'-7FS MPo|H 08 E AlEFLICLVCI HE &= 001|A‘| T El ve-per-vp 2t AFO|0{0F

grLICt 0l & 01 ve-per-vp=2562 2t RE{7} 2552 Ct =2 VCI 22 HESE S 7 HE Lt

i
o

74

PA-A1
PA-A12 PA-A3-0C122} RAISH M2 wAlg AFELICH CHS X|EE KT

- 22/ HEZ2|o &4F35= VC EHIOI22 6144 E=(E= &)2 K& LICH
- VPI S7H2 &4 0~255(8H|E)S| 2E Zt2 K[ EFLICH.
. Zt 1 VPI HE o0l CiEt vCI = atm ve-per-vp2 TAEILICH 6144 E|0O|2 &5 / atm ve-
per-vp = VCI H|E =¢Q]L|C}.
O| ZoME 4 7+ 8 ve-per-vp 2t 8 £ 04 &ELILC}.

vc-per-vp &t VCI HIE £ 1L VPl
32 5 192
64 6 96




128 7 48
256 8 24

512 9 12
10247122k 10(71=2h) 6(71=2f)
2048 11 3

PA-A2-4E1XC-E3ATM 5! PA-A2-4T1C-T3ATM

PA-A2-4E1XC-E3ATM & PA-A2-4T1C-T3ATM2 20472 Ct 2 VCI 2t R[5t K| A &L|ct e
Lt BEES AEstH ATM 2/E{H 0| A0 A 1~163832] gfS T &st1 & =

ilojadol| FIhe &= U&LICt 0| EX|= Cisco 1 ID CSCdw21467(S S & DA i) 0lM &
M3tE|T SHZEELICH

MC3810 Multiflex Trunk Module

Cisco MC38102| MFT(Multiflex Trunk) Z & atm ve-per-vp | B S A& 504 VPIZH VCI A O|A
7tof HIE 84S 0|S3st= 0421 ATM EFOE-I QIE{H|0|A & o|'L|'°|L||:|' HIE FEMof et
Ho| Mo 2 SARM| olal ¢FE HIE =& VPI & VCI HEER #HFst= XA ol0|ELct.

& MFTE 1HE = | HIEE X|gL|C 22{L} atm ve-per-vp B2 8t Z7Ho|M HIEE C}
E 37t HE st FOE-IE MELICo|E 04 atm ve-per-vp Zf 8192 VCI S7H0il 13HIE
(2t 1-8191)2 & *%P VPI S7t0f| 5HIE(Z} 0 - 31)& SLICH.

3810(config-if)#atm vc-per-vp 8192
3810(confi g) #int atm 0
3810(config-if)#pve ?
<0-31> Enter VPI/VCl val ue(slash required)
<1-8191> Enter VCl val ue
WORD Optional handle to refer to this connection

atm vc-per-vp %t 12SE At83HH VCI 370l E0{ELICVCI S7HHl 7THIE(ZL 1-127)E E€E 5t
VPl Z7tol| 8HIE(Z 0 - 255)8 &HEatLct,

3810(config-if)#atm vc-per-vp 128
3810(config-if)#pve ?
<0- 255> Enter VPI/VCl val ue(slash required)
<1-127> Enter VCl val ue
WORD Optional handle to refer to this connection

NM-1ATM-25

NM-1ATM-25 HIEQ|3 2 E2 VPI/VCI L0l 14HIEE X|HELICEH | E S0 atm ve-per-vp 4t
64= 67H2| VPI HIEQ 87H2| VCI HIEE X|HSIEE ZES FHELICH

0| Z 0= NM-1ATM-250{| CH3H K| El= ve-per-vp 24 0| LEEE|0] I&LICH VPI HR{M|AM HIEE
ER{A81929| gf2 U2 = UELICH

H
vc-per-vp A& \4_|PI 2 HE £ |VCIEHe? |[HIE $
64 1-63 6 0-255 8
4096 0-3 2 1-4095 12



//www.cisco.com/cgi-bin/Support/Bugtool/onebug.pl?bugid=CSCdw21467
//tools.cisco.com/RPF/register/register.do

8192 0-1 1 1-8191 13
HE M2 ZHEt & 2IREE= 0| A MB350 VPIY 178 VPIS| =2t VCIC| HPE &
HMtLCNM-1ATM-25= =|CH 4,096712] &A1 VCE |°4°*LII:+.

- 4096 & VC/25571e] mREt VPI Zf = I/ VPIE 16742 VC
- 4096 &8 vVC/471e| 17 VPI 7,1' _T'_-ﬁ'- VPIE 1024VC
- 4096 & VC/271e] I VPI 2 = I VPIE 2048VC

NM-4T1/8T1-IMA

2600/3600 A|2|=& IMA(Inverse Multiplexing over ATM) HIEQ|3 2 &2 atm vec-per-vp B S
At&3tod VPl 37t M HIEE &MA vCI 37tS =& LIct o] BHE2 IMA 2 &0l CH3H Cisco
|OS® Software Release 12.1(5)T(Cisco {1 ID CSCdr43O79(=§5| DO SHEN))| SRS
L|C}.Cisco I0S Software Release 12.20{|A 0|48+ 2 E0of CH3H % 15| T84 E LICHCisco 12 ID
CSCdt64050(S=E T2t 3T, IMA RS2 471 = 87H2| T10] B SAR 2 AlRsto 2 &t
T12| atm vc-per-vp Zf2 145t CHE E'= °|E-|u1|0|é01| ?S'?J% OjELC

_'_

VCI H¥ HIE = |VPI H¥ HIE £
0-15, 64-79, 128-143

0-255 8 9l 192-207 8

0-511 9 0-15, 64-79 5*

0-1023 10 0-15 4

0-2047 11 0-15 4*

0-4095 12 0-15 4

B4gt 2 X|of| 2H|EE AP & LICHAMMIE LI& 2 Cisco 2600 2 3600 22 E{9]
A

AIM-ATM

1
rr

AIM-ATM, AIM-VOICE-30 == AIM-ATM-VOICE-30 HIE¥3 2EEE M85t 82 VPINVCI
13H|EQILICH7[2¢t2 CtS0F Z&Lch

. VPl = VPI2| 5H|E(0 - 31 EE & #|CH 32742 L7 VP 2h)
. VCI = VCI2| 8H|E(1~255 EE= Z|CH 255VCI 4
. Word = ME{X pyC AlxH(EX}F ME);PVC *'HqXP% gdst= 49 0| AHE5to HIERIT
Cto|Yd m|o{E F#+AE | Ol PVCE XIHE = Q&LICE
ESpnk

. VPI 2|7} 0~310|2 2 PVC 100/2002 At 4= gia Lt
. PVCE CLIOIM CHS ot 22 B2 LHoll A —‘r“g%* £ Q&LICHVPI £ 8 - 256VCI &= 32 ~ 1024
. atm ve-per-vp WH VCI £ VPIVCI HIE HR|E HEstE Ol AA8E = A&LCt
AIM-ATM Zt=0f CHEF XEAIEH LI& 2 Cisco 2600 Serl s2| High Performance ATM Advanced
Integration Module & AAL2 8! AAL5 A BXSHAAIL.

4xOC3 GSR ATM EI91 7=
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7|22 2 GSR(Gigabit Switch Router)& 4xOC3 ATM 2@l 7tE= CIE{H|0|A T 372 T
VPI 2t 2 X|EfL|Ctatm ve-per-vp BE 2 AF& 50 VPIY VC =8 £04 X[HEl= VPI T8 =3
T A&LICHZE 4xOC3 ATM 2t21 7HE QIE{H|O|AMM AFSE = = VPIS| == Ct& =40
2t A-EEL(Ct

#VPIs/interface = 15K / (#interfaces/card) / (VCs/VP) (rounded down)
ve-per-vpll 7272 10240|2 2 QIE{H|0|AE X|E|E 7|& VPI £& 15K/1K/4 = 3Q]LICH.

atm vc-per-vp &t CIE{H|O|AY X[HE[= VPI £
atm vc-per-vp 2048 1
atm vc-per-vp 1024  [3(Z122})
atm vc-per-vp 512 7

atm vc-per-vp 256 15

atm vc-per-vp 128 30

atm vc-per-vp 64 60

atm vc-per-vp 32 120

atm vc-per-vp 16 240

&, 4xOC3 ATM 2t2l 7t == atm ve-per-vp BE2 A& 5104 HIE F24ME2 O|SELICLTM 7ts
B 2t2 4 29| Mg Lt

GSR(confi g) #interface atm 7/0
GSR(confi g-if)#atm vec-per-vp ?
16 VCs per VP
32
64
128
256
512
1024
2048

atm vc-per-vp %{0| 162! 3 T4 758t %[ VCI 22 15LCt

GSR(confi g-if)#atm vc-per-vp 16
GSR(config-if)#pve ?
<0- 255> Enter VPI/VC val ue(slash required)
<1-15> Enter VCl val ue
!--- Highest VCI value is 16 - 1. WORD Optional handle to refer to this connection
atm vc-per-vp Z{ 2 20482 ¥1E5IM HIE L EME Tt VPI 7tol 7THIEE, VCI S7Ho]
1MH|IEE 2ofgLIch. 7 7ts8t 2|1 VCI 22 2047 L C.

GSR(config-if)#atm vc-per-vp 2048
GSR(config-if)#pve ?
<0-127> Enter VPI/VCl val ue(slash required)
<1-2047> Enter VCl val ue
!--- Highest VCI value is 2048 - 1. WORD Optional handle to refer to this connection

show interface atm ! show atm interface atm @& Z|CH & vC ZtoF EAIELICHFAEE ve-
per-vp {2 2 24™ show running B&S At 35HofF & LICH



CSR- 1#show run interface atm 7/0
Bui | di ng configuration...

Current configuration:
1
interface ATM// 0
no i p address
no i p directed-broadcast
atm vc-per-vp 2048
!--- Non-default values are displayed. atm clock | NTERNAL no atm enable-ilni-trap no atm

ilm-keepalive end

PA-A3-8T1IMA 3! PA-A3-8E1IMA

7x00 AI2|=& IMA(Inverse Multiplexing over ATM) ZE O{HE{= IMA 2 E2| E21™M T1
7t B71etof et 7HA IMA QIE{H O|A O BIHEHE 3"-| CH &M VC 22 KIHELICLZ T1 83s
Z|CH 512742 &M VCE X|ELIct

= W2 2EoiELict

mjn
mr
rr
o

0| 212 IMA ZE o{HHE{f| M Z|CH &M vC %

I
[l

2
o

1. IMA & (IMA 0)0il T1 23 27HE F 7}t 1 show ima interface BE 2 Al 6104 1
& QIBFLICE IMA 7HA QIE{HH| O] A(atm2/ima0)E K|&I gL},

7200#show ima interface atm2/ima0
ATM2/ima0 is administratively down
| MG oupSt at e: Near End = not Confi gured, FarEnd = not Confi gured
| MG oupFai l ureStatus = ot herFailure
I MA Group Current Configuration:
I MG oupM nNunirxLi nks = 1
I maG oupM nNurmRxLi nks = 1

| maG oupDi f f Del ayMax = 250
| maG oupNeTxCl kMbde = common(ctc)
| maGr oupFr amelLengt h = 128
| maTest ProcStatus = di sabl ed
| MG oupTest Li nk = 255
| mmG oupTest Pattern = OxFF
I MA Link Infornation: Li nk Li nk Status Test Status

ATM2/ 0 down di sabl ed ATM2/ 1 down di sabl ed

2. show interface atm2/ima0 BHE 2 A& 504 IMA 7tH& QIE{H 0| A0l Z|CH &4 VC 22 EA|
g LICH.
7200#show interface atm2/ima0
ATM2/ima0 is adninistratively down, |ine protocol is down

Hardware is | MA PA
MIU 4470 bytes, sub MIU 4470, BW 1536 Kbit, DLY 100 usec,
reliability 0/255, txload 1/255, rxload 1/255
Encapsul ati on ATM | oopback not set
Keepal i ve not supported
Encapsul ation(s): AALS
1024 maxi num active VCs, 0O current VCCs
!--- 1024 maximum active VCs on the IMA virtual interface. VC idl e disconnect tine:
300 seconds O carrier transitions Last input never, output never, output hang never Last
clearing of "show interface" counters never Queueing strategy: fifo Qutput queue 0/40, O
drops; input queue 0/75, O drops 5 minute input rate O bits/sec, 0 packets/sec 5 m nute
output rate 0 bits/sec, 0 packets/sec 0 packets input, O bytes, 0 no buffer Received 0
broadcasts, 0 runts, 0 giants, O throttles O input errors, 0 CRC, O frame, O overrun, O
ignored, 0 abort O packets output, O bytes, O underruns O output errors, 0 collisions, O
interface resets 0 output buffer failures, 0 output buffers swapped out

3. IMA &0 Ml 2mi T1 2321 ATM 2/28 F7HELICH
7200(confi g) #interface atm 2/2
7200(confi g-if)#ima-group 0



AlSH

(]

FLICEH OIA IMA 7t IE{m|o| A7} |CH 15367H2| & 4

4. show int atm2/ima0 FHEE A&
VCE K|35t WS QIS A|I2.

7200#show interface atm2/ima0

ATM2/ima0 is adninistratively down, |ine protocol is down

Hardware is | MA PA

MIU 4470 bytes, sub MIU 4470, BW 1536 Kbit, DLY 100 usec

reliability 0/255, txload 1/255, rxload 1/255

Encapsul ati on ATM | oopback not set

Keepal i ve not supported

Encapsul ation(s): AAL5

1536 maxi num active VCs, 0O current VCCs

!--- 3 T1 links x 512 = 1536 maximum active VCs for the IMA group. VC idl e disconnect
time: 300 seconds O carrier transitions Last input never, output never, output hang never
Last clearing of "show interface" counters never Queueing strategy: fifo Qutput queue 0/40,
0 drops; input queue 0/75, O drops 5 minute input rate O bits/sec, 0 packets/sec 5 mnute
output rate 0 bits/sec, 0 packets/sec 0 packets input, O bytes, 0 no buffer Received 0
broadcasts, 0 runts, 0 giants, O throttles O input errors, 0 CRC, O frame, 0 overrun, O
ignored, 0 abort O packets output, O bytes, O underruns O output errors, 0 collisions, O
interface resets 0 output buffer failures, 0 output buffers swapped out

IMA ZE o{HE{2| 874 T1 &3 7t 25 IMA 2 &0f F7HEH IMA 7H4 QIE{mo|A= Z|CH
4096702| 7HESE VCE X|HE + U&LICHE|C) 24 VOO CHet 2 ned A4S HESHA

A2,

ATM DXI 1.2{ AFE

HOIEIE ATM ZEJ} Qi B2 encapsulation atm-dxi ZHE2 AtE5t0] 2HE QIE{H|0|AE TS
& & Ql&LICDXI(Data Exchange Interface)= HDLC2F SAFSH =8|l LHoll CIOIE{E Z{&slstn
Olz4Et =& l2 ATM DSU(Data Service Unit)0d] =& LICH dxi pve <vpi> <vci> HHEOZ ATM
DXI PVCE 7 [ Ct= VPI & VCI ATt ALl f2l5HMAI2.

. VPI - 0~15 EE&= =|CH 16712 T8 VPI 4t
. VCI - 0~63 EE= Z|CH 647H2] 1Rt VCI 2k

Z|cH 2 VCol CiEr S Jied M

Y ATM QIE{H|O|AM M B2 2| PVCE FEE M CHE M E Tedst= 20| E&LICH

. 227 2| M VC == SAI SAR =2t THZ! 3 7|0f| CHEt Cisco 774301 A THEE LT PA-
A3E= 1024712] S Al SART Z & £|CH &4 VC 2t 2l 40962 K| ELICHZE 4096 VC7t &
Aol THZIE F=Al5tE A2 ATM QIE{HI0|A = THZ! 7t B FSX| T 2! AXE AEE
A& LICHIEEA Cisco= CHE S| A2 iR A&SHH Elo{HEE = U= T E t=2l0]
SAREZ At&3te= 0| E&LCEH

. B CIE{H|O|AOIM BE2 2| VCE T+ 88 &2, Cisco= DR AI&5HH B2 o] AQ(E
A™2 U = e deft T2 HME A5t CHE S| ! M2 2| ALE5tes /ﬂ
Ct.show process cpu B show memory sum HHE AL23510{ AL 7Hs58H 71 &
C|& ALE3l0{ CPU A8 E2 ZLIERFLICLFMEE vCol EFE CHdZof =t 7P oPXI EIP
A A|2.PA-A32| atm oversubscribe BE S AFE5tM 2Rl £ 2Lt 2 SCR(Stained Cell
Rate) Z{2 2 VBR-nrt PVCE FHE £ JU&LICLOLE x| o| B BE VCIt 3|l £ &
ZtetE ECNES &QolsHor & ZP, ZF VCO| SCRE EXE = Qi 4EIZ Ci7|o| e

2!
T miZlo| AXMELICLVCIL 6EE & e tHYF &2 7IM e HIZUUCh X MEAT



2ol gle B2 4 vCe T+ EE SCRIHX| o|S&LICHEtA SCRO| £2 VCE Hf B2 Oh
AEF g HE & U&LIChxT 7hlel /99| 9, Zt VCIH SCREL B2 VCE T&siedn
2 f, 2E 8 VCL| SAR =27t SYet B2 Z VCE <line-rate / # VC's>E& &7 EL

tn

ChCHE SCRE 7 E 4% vCof St CHEEZ 0| R04&|7{Lt SCRO| H =2 VC7t F0{E/L
CO| 2 & X2 EY AP ZEEE|= =0 et FetEuchmetd 2 vee| Mt CH =
HIES oS5 7(7F o{d&L|ch & m: 0 MEATZM AILIE[20iA ZiZ!o| o2tE 2ol
SAROIA Bt RE{Q| M AX|5HX| k& LICHSARZ Ao| MEE|l= £ 7 SARS| ME 532
ZIH5H SO 7F otad HIFLIES E4stErLICESt S AE 7Y A AEIS X1} of
Z12 XMt o|F0f AK|BILICEHCHA| 23H, ATM QIE{H 0| A EZIO|HE LHE HI{9| SARS
DL AFIXK| S SARE IHAE ME st S & Mo{&Lct

- AMAEY QIE{H0|A & 512 QIE{H|0|A 9] & == Cisco 10S HE0|M X[H5t=
IDB(interface descriptor blocks)2| =01 2|3l AM[EHEILICHIDBE 7+H2E, QIE{H|0|A &Ef &
E{mHo|Aof CHEt HEE Z&ste HZE2[Q| YR LIt Cisco I0SE E3E0 U= 2 2IH
o|Aoi CH3H IDBE R X| 2|5t ZF ot QlE{mHo|A0f CHEH IDBE & X| &2l ct. 1%
E{H0|A0| B2 £E7t Y2 QHHO|AEC H B2 HEEI7I ERELIcHZ ESiEo=
2 CHE o |0 IDB7 Z & E[0] /2 O|2{8t AMBt2 Z Cisco 10S EE[AM HEE £
A&LICH 2Lt IDBSE DRAME BE e 4§ &Ltz E3MET 2|0 DRAME EHET
Z|CH IDB A|gt2 EEHEHL|C}.Cisco I0S Software Z2|A 12.2= show idb B2 X[ gd6l0d %
CHZL2 = QIgfLIC U8 &34 &0 M Cisco 10S Software & 2|4 12.1(5)T Ol M=
10,000712| IDBE X|¥4EFLIC}.Cisco I0S Software & 2|4 12.2(2)TE= Cisco 2600 2! 3600
Series £ &0 CHEF CtS 1 22 =|CH IDB A 8H2 A 7HELICH Cisco 10S ZEHE o Z|CH OIE
H oA = B 51| QIE{HO|A =~ FA:IDB MEtS FEFHAMAIL.

. Catalyst 6000 Series 2! Cisco 7600 with FlexWAN2 Zt E2|% CIE{H|0|A 2 =2 5] ¢l
E{m|0|A 0| £74TI VLANE EE 5t of7[HxE ALSE LICH ZICH 40967H2] VLANEZ & st
QIE{H|0|A 2 O|E A Z|CH 40967HZ A|8HELIC} Catalyst 6000 Series & Cisco 76002 IDB
AMet2 &l X[ |E Z[CH IDB £(30007H) 2 A SHELICHFlexWAN QIE{HO|A REUM E
0|49 PA-A30] CH5H 52| CIE{HIO|AE B PVCE T & [l 0] Zt2 F st MAIL.

. Cisco 7200 Series 2} E T Z|CH PA-A3 == Cl|O|H M& EF(CHPEZ0l2tn &)2 7I|He 2
StH, Ol= MA|Q| ZE o{RE] HiZ 0ol W& 2 ELICLOl= MX|E = U= ZE o{HE{Q| =2t
Yo &g SLCL T2 MHM 2=20of 2t Cisco 7200 Series= CHAE X QIE = B
gt i Z ol 72 A& LICH7200 Al2|=2| & PCI(Peripheral Component Interconnect) H
AE 22 6007HC| CHAE = ZQIEE X|HELICHPA-A3E= 300712 CHHEE X QIEE ALE R L
Ch.el&=(1/0) 7t=EC| 14 Ol L EE CHEE ZQIEE AFSELICH

. DSL *H0M AL E A2 7200 Seriese= PA-A3 271 2! HE NPE-4002 A& 3= 8,0007H2]
RBE(Route Bridge Encapsulation) M|M& X| & L|Ct VRFO| CHet RBE K|t 22 ZCHAS
7|5 & Cisco 10S Software Release 12.2(4)BOIA AF& & = Q&LICH 7500 Series= Z[CH
DSL PPPoX MM =0 CH 48H2 &445t= IDB A& 20002 K| P& LICHBHRE{ 01| A
1,0007H O|& 9| MME X|HE B L2ZEQ|0f 2tO|MAE FOisHoF B LICHAHAIEH LHE 2 Ct
S claAE HEsHMAIR Z T 0{T2[7H[0]449] Cisco 7200/7400 FAQ

. 7500 SeriesOllA RFC 1483 2t & 0]|2|2| DSL 0{ZZ|H 0|M 7|52 E4HE! Cisco Express
Forwarding dCEFO| A M&HE|X| ok & L|Ch.ih 2k DSL &17|0dl 7200 Series, 7400 Series !
1000 Series@ 22 ZE0| HEELICEH

#Ed e

. Cisco 2600 2! 3600 2} RE|2] ATMS St SHE|E=IA
. Cisco |I0S AZ E9fo{ Z3HF | 2|cH QIE{Ho|A & 51 QIE{HO0|A £=:1DB A&t

Ero

xre
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